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(A) Odum 

UNIVERSITY OF NORTH BENGAL 
B.A. Ist Semester Examination, 2019 

(A) STTH 

(A) 

ENVIRONMENTAL STUDIES 

(A) 3GH 

The term 'ecosystem' was first coined by . 

AECCENVS 

(A) reyfa 

(A) e�fa 

Instruction 

Answer all the questions: / fHT TÌ yÌ JR f:/ 

(B) Tansléy 

(B) eÍHA 

(B) GG 

(B) IH 

(B) Coral Reef 

(C) Rachter 

Which of the following ecosystems has the highest gross prinary 
(A) Grassland 

(B) VAIA -u 

(C) teR 

(C) TDIS 

(C) ATqeR 

(C) Mangroves 

Full Marks: 80 

(C) tuta 

(C) AITAATS 

(D) Both 'B' and C' 

(D) 'B' d 'CÈ 

(D) 'B' 3f C dI 

productivity? 
(D) Rain forest 

(D) qsfq 

(D) gi8 T 
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(A) tYrfA 
(C) 0uH 

Ecotone is characterized by 

(A) Forest ecosystem 
(C) Terrestrial zone 

(A) 44 qrfRfRerftt da 
(C) Frcy a 

(A) 13A 80 

Sunderbans contain mainly 
(A) Mangrove trees 

(A) }utg ger 

(A) AaTS GgT 

(A) 40yH qE5 

(C) Carbon dioxide 

(A) E1STHrÁA 

(B) Fir forest 

(C) #rÁ¬ SISIÍFISG 

(B) 5 uT 

Which one is not a pollutant normally? 

(A) Hydrocarbon 

(B) P W 

(B) 5 v 

2 

(B) r 5 

(D) qsfqa 

(B) Transition zone between two vegetation 

(D) Zone of transition between water and land 

(C) Alpine trees 

(C) 344I^T qe 

(C) yjar SfgT 

(C) HIST qEH 

(B) Carbon monoxide 

(D) Sulphur dioxide 

(D) Grass 

(D) A 

(D) 

(D) H 

(B) rá¬ 3dHgS 
(D) HG SIG3ÍNHISG 
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(A) B0RSTfa 

(A) EIES0HTÉT 
(C) TÁT SI�S0dGIISS 

ldentify the correctly matched pair: 

(B) Kyoto Protocol � Climate Change 

(A) Basel Convention- Biodiversity Conservation 

(C) Montreal Protocol - Global Warming 

(B) NGAIS 

(C) ta (Montreal) f-fbA 

(D) Ramsar Convention � Groundwater Pollution 

World Environment Day is celebrated on 

(A) 28" February (B) 5h June 

(A) 3Z13H SVat 

(A) QbG GFIA 

(A) 3Z13H HYa 

(A) 1981 

(A) 1981 

(A) Sts 

(B) T 

(B) & 

(B) iT G 

(B) 1985 

(B) HI4T ifeHISS 

(B) 1985 

(D) HDR SIG0ÍCNSS 

(B) >ba 

3 

(B) reota - GeAY ftat 

The Air-Prevention and Control of Pollution Act came into force in 

(B) f¢AcoI VfaG-qG0 f&géa 

(B) Ìe HtgI 

(C) 7h August 

(C) HIG 3TNT 

(C) 4} G 

(C) HIG 3TT 

(C) 1990 

(C) 1990 

(C) So 

(D) 10" April 

(D) H 3GI 

(D) Sofe 

(D) T 3àT 

(D) 1975 

(D) 1975 

(D) S9a 
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(A) 1981 

Noise pollution is measured in 
(A) Hertz 

(A) BCUf 

(A) e 

(A) Ef 

(A) tgolI get 

(A) 1952 

(A) 1952 

(B) 1985 

Anthracosis is caused by 
(A) Coal dust 

(A) saQ 

(A) 1952 

(B) Fathoms 

(B) H 

(B) J*4 

(A) q HRHUI 

(B) he 

The Wildlife Protection Act was passed in 

(B) Silica 

(B) ifcrI 

(B) Mfeo1 

(B) Rific 

(B) 1955 

(B) 1955 

(B) SY¢Q 

(B) 1955 

Chipko movement is related to 
(A) Forest conservation 
(C) Preservation of threatened species 

4 

(C) 1990 

(C) Nanometer 

(C)rR 

(C) JGAIADE 

(C) feR 

(C) Iron dust 

(C) ÞTHT got 

(C) 1972 

(C) 1972 

(C) sa4 

(C) 1972 

(D) None of these 

(D) 1975 

(D) TÀ T 

(D) Decibel 

(D) afHq 

(D) (sfa 

(D) SfMTa 

(D) Cane fibre 

(D) St 

(D) ro I 

(D) 1982 

(D) 1982 

(D) Sàb 

(B) Prevention of soil erosion 

(D) 1982 
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(A) S RI 

(A) q HrGUT 

(C) #OCTYa yuit HREUT 

Symbol of WWF is 
(A) Tiger 
wWF Yft# 
(A) Ta 

WWF-4g e 
(A) 

wWE fat at 
(A) Ia 

(A) Birds 

(A) qeft 

(A) fR 

Kanha National Park is famous for 

(A) TR-t 

(A) HcT 44RGT 

(B) Red Panda 

(A) f{ 

(B) Ii yisT 

(C) 4Üe 

(B) |G itSt 

(B) EIÀ 

(B) Rhinoceros 

(B) sT 

Deforestation will decrease 

(A) Soil erosion 

(B) 5et 

(B) s 

(B) HCT 3HqHU 

(B) 8tA WAPA 

Who is known as Waterman of India"? 

(A) Anna Hajare 

(C) fRA ersfoRA 

(B) Rajendra Singh 

(B) ri hCIGGI IGUTH 
(D) qf slgT 

(C) White Bear 

(C) HóZ HI 

(C) A0 

(C) Ht MIG 

(C) Tiger 

(B) Soil degradation (C) Landslide 

(C) qT� 

(C) 1T 

(C) qT� 

(C) 4RAi 

(C) R 

(D) Giant Panda 

(D) PHo A 

(D) faoArs Y0ST 

(D) SJ-tSt 

(D) fanORY EIA 

(D) Crocodile 

(D) 44RHS 

(D) *fg 

(D) 4TRHI 

(D) Rainfall 

(D) q4f 

(D) 2S 

(B) HIelG uTRYI fRTAE 
(D) s 

(C) M.S. Swaminathan (D) Subhash Dutta 
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Waterman of India 

(A) 3T gGTR 

Waterman of India' ta fafbU foo QUAA 

(A) SPM 

"Waterman of India' 4à qfRfa afti 1 
(A) 34T FUR (B) I Rig 

(A) SPM 

Black foot disease in humans is caused b 
(A) SPM 

(A) SPM 

(A) R. Rajagopalon 
(C) Birbal Sahni 

TH fÌ GIHI 

(A) 3ATR. IGTH 

(B) I- fiE 

(A) aR, tata1A 

(A) 3TR. GIA 

(B) 0(B7 AR 

(A) #RtTG 

(B) Cadrnium 

(B) stuH 

(B) tsAR0A 

(B) RISfA� 

(B) SI. 4 at 

Neora Valley of West Bengal is a 
(A) Reserve forest 

Who is the 'Father of Green Revolution' in India? 

(B) National Park 

(B) Is JT 

(B) arH tGwjt 

T � 

(B) y 3GH 

(C) H. yH. ATÁT 

6 

(C) 4N,47, AR 

(C) YH. yH. AT 

(B) a0. 4T re0T (C) rgT HEA 

(C) Arsenic 

(C) IR0A5 

(C) qts 

(C) 3R0fA 

(C) fard HIB 

(C) Normal forest 

(B) Dr. Norman Borlaug 
(D) M.S. Swaminathan 

(C) HIH|RY v0Ii 

(C) HITRUL uT 

(D) WE 

(D) HH GI 

(D) Fluorine 

(D) Y 

(D) FSfA 

(D) Votg 

(D) YA. yH. anfAHYT 

(D) 4A,q, IaA 

(D) yA. H. IAHRA 

(D) Sanctuary 

(D) 3rU� 

(D) 9II 

(D) 3TRUY 



i 

(t 
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(O)M (A) 
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( 

(D) ferg 

(D) fof (Z0) 

(D) Ntngn 
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'Blue Gold' name is associated with 

(A) Jute 

(A) e 

(A) to 

(A) VTe 

(A) Three 

(A) f 

(A) fafD 

(A) rge 

(A) CO 

(A) CO 

How many bio-geographical regi vns are present in India? 

(A) CO 

(A) CO 

(B) Water 

(B) G 

(A) tafas qenfa 

(B) 

(A) yeHfoqs g 

(B) y-f 

(B) Four 

(B) R 

(B) bafo 

(B) IRqeI 

(B) SO; 
Which gas is mainly produced due to incomplete burning of wood? 

(B) SO; 

(B) SO; 

(B) SO, 

(B) Coal 

(B) 4I 

(C) Fish 

(B) 4O1 

(C) 

(B) 5 

(C) 0� 

8 

(C) HT3T 

(C) Seven 

(C) HIT 

(C) sft 

Lignite, bituminous and anthracite are different types of (A) Nuclear fuel 

(C) HIGqeT 

(C) NO; 

(C) NO, 

(C) NO; 

(C) NO, 

(C) Natural gas 

(C) rpft# t 

(C) rofa rYH 

(D) Crop 

(D) 5HI 

(D) 

(D) 3ZAT 

(D) Ten 

(D) & 

(D) G 

(D) YTeT 

(D) NO, 

(D) NO; 

(D) NO, 

(D) NO, 

(D) Biogas 

(D) Ga 

(D) iU1A 

(D) tqrH 
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Grassland of USA is referred to as 

(A) Prairie 

(A) tu 

(A) GeA 

(A) t 

(C) Tropical rain forests 

Which forests have maximum diversity? 

(C) gUjAfeatfs qefa 

(A) Subtropical rainforests 

(A) suaftaty qtq 

(A) 1 

(B) Steppes 

(A) 1 

(B) 

(A) 1 

(B) Foc 

(A) 34-gujcafgffs g 

(A) I 

(B) FeuH 

What is the pH value of normal rain water? 

(A) 44H 

(Aricara 

(B) 0 QT 

(B) 5.6 

(B) 5.6 

(B) 5.6 

(B) 5.6 

(B) Biome 

(B) 4rH 

(B) CAT 

(C) Pampas 

9 

(C) qrH 

(C) it 

(C) YqH 

(B) Coniferous forest 

(D) Deciduous forest 

(B) 0gUr q4 
(D) qufyrdt 

(C) FH 

(B) IoH qA 

Total organic matter present in an ecosystem is called 
(A) Biomass 

(D) qoqt a 

(C) 8 

(C) 8 

(C) 8 

(C) 8 

(C) Litter 

(C) frer 

(C) ferbIA 

(D) Veldts 

(D) os 

(D) (EG 

(D) toeH 

(D) ib 

(D) 7 

(D) 7 

(D) 7 

(D) 7 

(D) Food 

(D) ATA 

(D) 
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(A) arHT 

(A) fRrar 

Which of the food chains directly depends on solar radiations? 
(A) Predatory 

(A) fMo 

(A) fRTOT 

(A) Eutrophication 
(C) Biomagnification 

(A) gtquT 

(A) bRTA 

(A) geibiA 

(A) Typhoid 

(A) T35TYS 

(A) DiAIS 

The process of nutrient enrichment in water is termed as 

(A) US515G 

Biochemical 

(B) qrTf 

(A) Industrial pollution 
(B) Air pollution 

(B) Grazing 

(B) RIS 

(B) (afR 

(B) TRIS 

(A) 3tenfr yqyu 
(B) rY qqu 

(B) ASg 

Which of the following is not a water borne disease? 
(B) Scabies 

Oxygen demand (BOD) means 

(B) od 

(B) *1q 

(C) feER 

(B) ofaG 

(C) Polluting capacity of effluent 

(C) Detritus 

(C) A 

(C) CsfUDM 

(C) feeH 

10 

"ta Huf IÍTUH H0T (BOD) RÊT ? 

(B) fAT YYG TA (C) arffafboyT (D) uf ag7 

(B) Limiting nutrients 
(D) None of these 

(C) Cholera 

(D) Dissolved O; needed by microbes to decompose organic waste 

(C) ?T 

(D) TE 

(C) 0GA0AUtaAfRLAA (D) cAIDR AS 

(C) At 

(D) None of these 

(C)T 

(D) $7d 

(D) PADR 

(D) Fd 

(D) Hepatitis 

(D) }Gfe 

(D) EtbiaiG 

(D) }YTEIgfeH 
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(B) 

qrtofthi H HT (BOD) 3et 
(A) fRrT yqgo 

(B) rY qq 
(C) YGUT THT 

The target 'Green house Gas' emission was an outcome of the international conference at 

(A) Stockholm 

(A) FeÍoÌ4 

(A) bRA 

(A) TeG4 

(A) yTTGT 

(A) (#Drsa 

(A) yIST 

(B) Kyoto 

(A) aTer 

(B) Ret 

(A) 1AfrbtA 

(B) RIICÝi 

(B) Te 

(B) Jodhpur 

(B) Ìayr 

Which city of the world has been tagged as zero water or 'waterless city' in 2018? 

(A) Capetown 

(B) 

Earthquake is measured by 

(A) Barometer 

(B) Terye 

(B) Cardiograph 

(B) 61faus 

(B) *1farry 

(C) Paris 

11 

(C) RH 

(C) nifa 

(C) RY 

(C) Nairobi 

(C) ta 

(C) aRLAI 

(C) Ig 

(C) Seismograph 

(C) frrus 

(D) Rio-de-Janeiro 

(C) rMCAar 

(D) Rur-fR-Rut 

(D) e fu (9ARe 

(D) r-f&-R 

(D) Khartoum 

fefe fe ? 

(D) AIfA 

(D) p 

(D) AIKA 

(D) Electrograph 

(D) FoegUTS 

(D) ar 
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(A) iAeR 

(A) CO, d CH, 

Which one of the following pairs of gases are the major causes of 

(A) CO, and CH4 

(A) CO;R CH, 

(A) CO, 3f CH4 

(A) YTH¾e YT 

(A) 5R 

Green Revolution is associated with 
(A) Sericulture 

(C) Ethane and Methane 

LPG yco 

LPG-5CHA GeaS 

(B) +rfaTuTs 

(A) fAR IA 

(A) frer sf tart 

(B) CO; and NO 

(B) CO, yd NO 

The components of LPG are 

(A) q4-4eIÉ 

(B) CO, R NO 

(A) Methane and Hexane 

(A) R 

(B) CO, 3f NO 

(B) Agriculture 

(B) pft 

(B) RoS 

(B) y 

Soil erosion can be prevented by 
(A) Deforestation (B) Afforestation 

(C) fMHgrs 

(B) gerrrTyo 

(B) AiA 

(C) CO, and O3 

12 

(C) CO, d O, 

(C) CO, R O; 

(C) CO, 3f O, 

(C) Fish culture 

(B) (16A S fASD (C)RA fATR 

(C) HOR| lCH 

(C) ARA 5tE 

(C) HT3T 9IT 

(C) Overgrazing 

(D) ZgTuTS 

Greenhouse Effect? 

(D) CFC and SO 

(C) 3rftgRIS 

(D) CFC yd so, 

(B) YH f at (C) zuT f fe (D) àa af ze 

(C) afofG OS0TA 

(D) CFC 4R SO 

(D) CFC 3f SO, 

(B) Propane and Butane 
(D) Propane and Ethane 

(D) Forestry 

(D) afA 

(D) 4jSA 

(D) (t sR 

(D) Ploughing 

(D) gr 

(D) { 



UG/CBCS/B.A/lst Sem./Environmental Studies/AECCENVS/2019 

43. 

44. 

45. 

46. 

1121 

(A) uT oÌ 

The pollutant responsible for ozone hole is 
(A) CO; 

(A) CO; 

(A) CO; 

(A) CO; 

(A) Manas 

(A) HH 

(A) T 

(A) HH 

Asiatic Lion is found only in 

(A) Oxygen 

(A) 3dGfGH 

(A) fCEA 

(A) 3iferfG 

(B) fabar 

(A) 1988 

(B) SO, 

(A) 1988 

(B) SO; 

(A) 1988 

(B) SO; 

Maximum amount of gas found in air is 

(B) SO, 

(B) Kaziranga 

(B) IT 

(B) *ftst 

(B) I 

(B) Carbon-di-oxide 

(B) KA-uR-UsS 

(B) 1986 

(B) 1986 

(C) TCT �I qRg (D) GtR 

(B) 1986 

(C) CO 

(B) 1986 

(C) CO 

3 

(C) CO 

(B) O1¤T-ST¾-30dGHI^S (C) 13gT 

(C) CO 

Ganga Action Plan in India was launched in the year 

(A) 1988 

(C) Gir Forest 

(C) fr iA 

(B) >rÁ7-sIý-3ÍOHIGG (C) AISÇlui 

(C) fr 0TT 

(C) Nitrogen 

(C) AIRCOer 

(C) 1980 

(C) 1980 

(C) 198O 

(C) 1980 

(D) CFC 

(D) CFC 

(D) CFC 

(D) CFC 

(D) Sunderbans 

(D) y<r 

(D) A 

(D) rqi 

(D) Ozone 

(D) 3Gi 

(D) S(t 

(D) 3t 

(D) 1978 

(D) 1978 

(D) 1978 

(D) 1978 
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Rain water harvesting is a major method implemented for 
(A) Water conservation 
(C) Forest conservation 

(A) G HRAU 

(C) TA HRHUT 

(A) tR 

(A) YIio HRAUT 

(A) Deserts 
Ramsar Convention is related to 

(A) 46G 

(A) 4P�f 

(A) HOg 

(A) CO; 

(A) CO; 

(A) CO, 

(A) CO: 

(B) 8 RA 

(A) Pyramid of energy 

(B) rt HRAUT 

(C) Pyramid of number 

(A) hut ftRrfrs 

(B) Wetlands 

Which of the following is Secondary pollutant? 

(B) TÉfA 

(B) 

(B) frHR 

(B) CO 

(B) CO 

(B) CO 

The ecological pyramid that is always upright 

(B) CO 

(B) Soil conservation 

(D) Ecosystem conservation 

14 

(B) HGT HREU 

(D) qRefót da HRHUT 

(C) 4 RA 

(C) qH HREUT 

(C) Agricultural lands (D) Forest land 

(C) fr_fA 

(C) pfrt 

(C) O; 

(C) O; 

(C) O; 

(D) 18 RTS 

(C) O, 

(D) qifRa-ao HrU 

(D) 4 Hf 

(D) 4 RAAA tce 

(D) 4 

(D) SO, 

(D) SO, 

(D) SO, 

(D) SO; 

(B) Pyramid of biomass 
(D) None of these 

(B) tHR I fARIfS(C) HT fAR1fS (D) 3À TEI 
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(A) fas (B) 5AS foratfrs (C) RIa frifrG 

(A) nfths) fkrfAs 

(C) HI farifAs 

The first protected area in India is 

(A) Silent Valley 
(C) Bandipur Sanctuary 

(A) HISe t 

(C) ai<Iyr 3rTRUs 

(A) IRKErt sifa 

(C) r RQaIa 

(A) HISoe to 
(C) aIfyr 3HUTg 

The only ape found in India 

(A) Gorilla 

(A) 

(A) 1f31 

(A) ifoI 

(A) Bacteria 

(A) harug 

(B) Chimpanzee 

(A) fau 

(B) fayit 

Producers in an ecosystem are 

(B) fe 

(B) frrs 

(B) Animals 

(B) "9 

(B) 1o 

(B) qrtHIKI fArfAg 

(D) 

(B) Corbett National Park 

(D) (AAIfsz au 

(D) Nagar-Hole National Park 

yf rg1 

(D) TTRE I� JUTA 

(B) ®AKU GONSHjta 

(D) AS13-A bJA 

(D) TR-gld Igs SUrA 

(C) �os frat 

(C) Hoolock gibbon (D) Oranguttan 

(C) Kts fra 

(C) Green plants 

(D) 3TJEIT 

(D) 84R SOR 

(D) 3trjeH 

(D) Consumers 

(D) JYHI 

(D) 
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(A) rru 

The direction of energy flow is 
(A) Unidirectional 

(A) yofty 

(A) QP 

(A) yo 

(B) "gurof 

(B) Bidirectional 

(C) Habitat destruction 

(B) gf 

Reasons for man-animal conflicts are 
(A) Shrinkage of forest covers 

(A) yts fafafa 

(B) 

(C) Shortage of desired food in forests 

(A) fca fa 

(B) f¢si 

(C) GT aifb HA 

Which problem is not related to big dams? 
(A) Seismic activity 

16 

(C) tftt qTuft 

(C) Cyclic 

(C) sâr 

(C) taa 

(C) Á 

(D) sugT Ì 

(D) TUrIIEO 

(B) Human encroachments into forests 

(D) All of these 

(D) None of these 

(D) fagt JEYIGT 

(D) + uf sig 

(B) GTHI HIG 3ftsa4ur 
(D) Hre fesyo à 

(D) fyefa teaa 

(B) Submergence of large fertile lands 
(D) Electricity generation 



UG/CBCS/B.A./1st Sem/Environmental Studies/AECCENVS/2019 

57. 

58. 

59. 

60 

121 

(A) tsq fafa 
(C) ArHT f 

Causes of desertification are 

(A) Forest destruction (B) Overgrazing 

(A) q4 faI 

(A) WaTfta 

(A) fa-gT 

(A) 1% 

(A) 1% 

(A) 1% 

(A) 1% 

The efficiency of energy flow in the ecosystem is about 

(A) Nitrogen 

(A) Sg0A 

(A) TECCGA 

(B) ftTRIS 

(A) 1ET 

The main component of 'Biogas' is 

(A) gHati 

(B) 10% 

(B) atsG OIA9 (C) tGGAA 

(B) 10% 

(B) 10% 

(B) 10% 

(B) Oxygen 

(B) 3dfg 

(B) fxCGa 

(B) 34HÍGH 

(B) gdst fret t 

(D) fau seArEA 

(B) Herbivores 

(C) Salinization 

(B) rOTE1 

(C) aafoHYU 

17 

(C) Gaftaru 

(C) 50% 

(C) 50% 

(C) 50% 

(C) 50% 

(C) Methane 

Which one is located at the top of an Ecological Pyramid? 
(A)Consumers 

(C) fAeA 

(C) fACR 

(C) fA 

(C) Producers 

(C) 3IG# 

(D) All of these 

(D) JUýRT 

(D) SeTEG 

(D) 4TferEI Hà 

(D) 100% 

(D) 100% 

(D) 100% 

(D) 100% 

(D) CO: 

(D) CO: 

(D) CO, 

(D) CO; 

(D) None of these 

Turn Over 
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61. 

62. 

63. 

121 

(A) 

(A) BTIEH 

Biodiversity 
(A) Increases towards the equator 

tafafauT 

(B) BCe 

(B) TOIETEH 

(C) Remains same throughout the planet 

(C) qeary RIaT EI 

(A) Ecological Succession 
(C) Biogeochemical cycle 

(A) Forcifrhi HYA 
(C) trHIAA AG 

Recycling of matter repeatedly occurs through the process 

(A) }LOAfr PGA 

(A) in-situ conservation 
Botanical Gardens are examples of 

(C) in-vivo conservation 

(C) Tet$ 

(C) 3YIGGES 

I8 

(B) Decreases towards the equator 
(D) Has no effect on change in latitudes 

(B) Ecological Pyramid 
(D) Energy flow 

(B) qRfftrs ft1fes 

(D) AIAiDR B 

(D) hut 9AE 

(B) a fs 
(D) G eiE 

(B) ftaf ftfes 
(D) tb yAIE 

(B) ex-situ conversation 
(D) ex-vivo conservation 

(A) 4-4 eU (B) H- HAT (C) »$A faar ireru (D) 'yH faT RATUT 
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64. 

65. 

66. 

67 
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(A) a-f 

Ozone hole is highest in 
(A) Antarctica 

(A) 3deTe`fla 

(A) WDbE 

(A) 34ETofeea 

STeA fRE (Ozone hole) r1R* IA 

(A) VAR 

(A) T 

(A) =frqs 

(A) Carnivores 

(B) 43-fD | 

(A) 4IHef 

(B) RTt U 

(A) 

(B) Africa 

(A) HTEI 

(B) 3É]hI 

(B) WiS 

Covering the soil surface by straw, leaves or grasses is known as 

(A) Mulching (B) Terracing (C) Leaching 

(B) 315É1I 

(B) R }T 

(B) bAtfR 

(B) fG 

(B) Detritivores 

(B) aÇrerTH 

(B) y§f 

The animal which consumes decaying organic matter is 

(B) af¢eH 

(C) $-ft iraU 

A river with high BOD value is 

(A) Highly polluted (B) Highly clean 

(C) Europc 

19 

(C) qeu 

(C) QBCAT 

(C) qTT 

(C) fa 

(C) ftf 

(C) fafas 

(C) Herbivores 

(C) TOTETT 

(C) GIEI 

(D) 43-ocst RA 

(B) 34Rtl td 

(D) qRI-frt RUT 

(D) 'A' yG'C 

(D) India 

(D) 4RT 

(D) S8 

(D) TRGat 

(D) Crop rotation 

(D) 5 

(D) FID 

(D) þHG s 

(C) 19i (yACHI) (D) TeTv* 

(D) Producers 

(D) 3ATG# 

(C) Highly productive(D) Both 'A' and 'C' 

(D) 3YGOES 
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68, 

69. 

70. 

71. 

I121 

(A) wfAaR AU 
(C) A Beva 

(A) 3rfa w�fra 

(A) 1976 

(A) sa9G 

(A) 1976 

The Indian Environment (Protection) Act came into force in 
(A) 1976 

(A) I0HzT4 

(A) 5AA 

(A) TeToEH 

(A) `HR 

(B) 3frqs 

(A) *A 

(A) ATHR 

(B) 1986 

(B) 1986 

(A) ary qyo 

(B) >ab& 

(B) 1986 
The first International Conference on Environment was held in (A) Stockholm (B) Johanesburg 

Which one is a communicable disease? 
(A) Cancer (B) AIDS 

(B) GtETHq 

(B) (RRII 

(B) uHqt 

(B) (EH 

(B) 4}y 

(B) YGH 

Main reason for the disease 'jaundice' is 
(A) Air pollution 

(B) i fAst3 

(D) 'A' C D3 

(C) 3rft 3yIGTft (D) "A' sft C à 

20 

(C) 1988 

(C) 1988 

(C) Sbb 

(C) 1988 

(C) Rio-de-Janeiro 

(C) fàe f (90 

(C) Malaria 

(D) 1996 

(C) HfyT 

(D) 1996 

(C) Rur fs Rur (D) $ fofi 

(C) AUICOAt 

(D) >>d 

(D) 1996 

(D) New Delhi 

(C) Rut f ARU (D) $ faci 

(D) § 

(D) Tuberculosis 

(D) RT 

(D) foG1afa 

(C) HafRy (3tve) (D) HRT 

(B) Water pollution (C) Thermal pollution (D) Soil Pollution 

(D) HT yqqu 
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72. 

73. 

74. 

1121 

(A) 7 

(A) rY qyu 

Environmental impact of mineral extraction does not include 
(A) Atmospheric pollution 
(C) Loss of forest 

(B) yqu 

(A) aryeuSs YqHU (B) ng q 

(A) ary4uges yqyuj (B) g Hq 

The causes for flood in the plains are 

(A) Removal of plant cover 

(A) GfHG OIt 

(B) 9a Tera 

(C) Deposition of sediments at river basin 

(C) a Kafe fora 

(A) 44 far9 

(C) Biodiversity destruction 

(C) arýs uqU 

(C) ta fafaur 1 faeI 

21 

(B) Metal production 
(D) Degradation of land 

(C) gT fRa 

(C) vTefo BI 

(D) tU KOAÍO 

Impact of population explosion on environment include the following except 

(A) Deforestation 

(B) Soil erosion over hill slopes 

(D) All of these 

(D) 4fHI HÀ 

(D) 4Te TU 

(B) Tropical cyclone 
(D) Water Scarcity 

(D) GioI 344Y 

(D) fd 3HIq 

(B) gwafedes AIH 
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75. 

76. 

77. 

|121 

(A) warA 

(A) afaI 

(C) taffaylo fagT (D) eto 3TG 

Reasons for displacement of people are 
(A) Wars 

(C) Developmental projects 

(A) YG 

(A) 

(A) SIS 

(A) Thermal power 

(B) §voa yfas 

(C) farHYIE qRuSE 

(C) Solar energy 

(A) arag GÍ 

(A) ofs 

(A) Arq yf 

(B) MIpfes 3AT4GT 

(B) b fPra 

(A) fe 

Which of the following is not a renewable source of energy? 

(B) rfat huf 

(B) 9aY7e fE 

(B) Taftga ufth 

The termn 'smog' was coined by 

(A) Schmidt (B) Hertwig 

(B) zéfa 

(C) Afbuj RRA 

22 

(B) iftGT HISTG0T 

(B) Natural disasters 

(D) All of these 

(C) TANAGF dPA (D) GeRS IGA{G 

(B) WIpfas yoy 
(D) 4TfHI Hà 

(B) Hydroelectrical power 

(D) Biomass energy 

(C) ÌR Gf 

(C) Af 

(C) yfth 

(D) SRD 

(C) Benedon 

(C) s 

(D) qrTHTH FYÍ 

(D) 0GA 

(D) qrHH ftH 

(D) Des Voeux 

(D) }H qRI 
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78. 

79 

1321 

(A) At 

(A) fHe 

Biome is 

(B) The flora of land 
(A) The fauna of an Ocean 

(D) None of the above 

(A) HYZO urvf 

(C) Communities of organisms interacting with one another 

(A) Genetic diversity 

The term Alpha (a) diversity refers to 

(C) Species diversity 

(B) bGEst 

(A) Tarfer fafaui 
(C) Tu fafauI 

(B) fa 

(A) fere ttbe 

(A) afea fafaun 
(C)2nfaTA fafaun 

(B) r fs4 

(C) (AAb 

23 

(C) te 

(B) St( Gg 

(B) GTT qTfA 

(D) Plant diversity 

(B) Community diversity 

(B) HIyG1taa fafau 
(D) YTGY fafau 

(D) (9 SUI 

(C) eefafsa 

(D) }H 44H 

(D) 4ufà fafaua1 

(B) yeitaa fafaua1 

(D) SfM Cafsu 
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80. 

112! 

The Ocean covers 

(A) S1% 
(C) 71% 

48THITR yei fb uft fR 
(A) S1% 

(A) e3% 

(A) S1% 

(B) 61% 

(B) S% 

(B) 61% 

(B) 61% 

(D) 91% of carth's surface 

(C) 71% 

(C) 99% 

(C) 71% 

24 

(D) 91% 

(D) >% 

(D) 91% 
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